Chapter 13 Return, Risk, and the Security Market Line


Chapter 13 Quiz A   Student Name _________________________
Student ID ____________

________
1.
Market risk is referred to as:




a. diversifiable risk.




b. total risk.




c. systematic risk.




d. asset specific risk.

________
2.
A rate of return that plots above the security market line:




a. indicates a security is underpriced.




b. has a risk premium appropriate for the amount of risk assumed.




c. has too much risk for the amount of the return.




d. has a negative risk premium.

________  3.
Which one of the following statements is an example of unsystematic risk?



a. The number of vehicles sold by a major manufacturer was less than anticipated.



b. GDP was 0.5 percent lower than expected.



c. The inflation rate increased by 5 percent.



d. The value of the dollar declined against the other major currencies.

________  4.
Which one of the following statements is correct?



a. Beta measures total risk.



b. The higher the beta, the lower the expected return on a security.



c. A portfolio needs to contain about seventy-five diverse securities before the majority of the unsystematic 




risk is eliminated from the portfolio.



d. The amount of risk premium a security should earn depends on the security’s beta.

________  
 5.
Asset A has an expected return of 12.5 percent and a beta of 1.15. What is the market’s reward-to-risk ratio if 





the risk-free rate is 3.9 percent?




a. 7.48 percent
b. 8.62 percent

c. 9.90 percent
 
d. 10.96 percent

________   6.
The risk-free rate of return is 4 percent and the expected return on the market is 13.5 percent. What is the 



expected return for a stock with a beta of 1.16?




a. 7.02 percent
b. 11.66 percent

c. 15.02 percent

d. 19.66 percent

________   7.
You own a portfolio which is 20 percent invested in U.S. Treasury bills, 30 percent invested in Stock 

A with a beta of 1.23, 10 percent invested in stock B with a beta of .95, and the remainder is invested in stock C. Stock C is equally as risky as the market. The risk-free rate of return is 4.2 percent and the expected return on the market is 11 percent. What is the portfolio beta?



a. .66

b. .86


c. .96


d. 1.06

________   8.
A portfolio is expected to return 5 percent in a normal economy, lose 10 percent in a boom economy, and return 20 percent in a recessionary economy. The probability of a recession is 30 percent while the probability of a boom is 10 percent. What is the variance of the portfolio?



a. .0081

b. .0239


c. .0477
 

d. .0900

________   9.
A $2,000 portfolio is invested in three stocks and one risk-free asset. Five hundred dollars is invested in stock A which has a beta of 1.3. Six hundred dollars is invested in Stock B which has a beta of .80. The rest of the portfolio is divided evenly between stock C and the risk-free asset. What is the beta of stock C if the portfolio is equally as risky as the market?



a. 1.00

b. 1.28


c. 1.44


d. 1.93

________  10.
Given the following information, what is the expected return on a portfolio which is invested 70 percent 



in stock A and 30 percent in stock B?





State of

Probability of

Return if State Occurs





Economy
State of Economy

Stock A
         Stock B




Boom

      10%


   15%
            17%





Normal

      75%


   10%
             9%





Recession
      15%


     4%
             5%



a. 9.29 percent
b. 9.48 percent
c. 9.70 percent
d. 9.87 percent

Chapter 13 Quiz A
Answers

1.
c

2.
a

3.
a

4.
d

5.
a
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6.
c
E(r) = .04 + 1.16 ( (.135 ( .04) = 15.02 percent

7.
b
BetaPortfolio = (.20 × 0) + (.30 × 1.23) + (.10 × .95) + (.40 × 1.0) = .864 = .86

8.
a
Mean = [(.60 ( .05) + (.10 ( -.10) + (.30 ( .20)] = (.03 – .01 + .06) = .08



Var = .60 ( (.05 ( .08)2 + .10 ( (-.10 ( .08)2 + .30 ( (.20 ( .08)2 = .00054 + .00324 + .00432 = .0081

9.
d
1.0 = [(500 / 2,000) × 1.3] + [(600 / 2,000) × .80] + [(450 / 2,000 × βc] + [(450 / 2,000 × 0];  βc = .435 / .225 =  1.93

10.
b
E(r)Boom = (.70 ( .15) + (.30 ( .17) = .105 +.051 = .156



E(r)Normal = (.70 ( .10) + (.30 ( .09) = .07 + .027 = .097



E(r)Recession = (.70 × .04) + (.30 × .05) = .028 + .015 = .043



E(r)Portfolio = (.10 × .156) + (.75 × .097) + (.15 × .043) = .0156 + .07275 + .00645 = .0948 = 9.48 percent

Chapter 13 Quiz B   Student Name _________________________
Student ID ____________

________
1.
Market risk is measured by:




a. standard deviation.




b. beta.




c. the variance.




d. the mean.

________
2.
A return which plots below the security market line is an indication that the stock :




a. has too high of a return for the risk assumed.




b. is earning an appropriate amount of risk premium.




c. has less risk than indicated by the return.




d. is overpriced.

________  3.
Which one of the following will have little, if any, effect on a well diversified portfolio?



a. terroristic attack on the U.S.



b. explosion at a distribution warehouse



c. sudden increase in market interest rates



d. increase in the exchange rate

________  4.
Which one of the following statements is correct?



a. The reward-to-risk ratio is equal to the risk premium of a security divided by the security’s beta.



b. Unique risk is a type of systematic risk.



c.
Systematic risk is another name for diversifiable risk.



d. The higher the beta, the lower the level of risk.

________  5.
Given the following information, what is the expected return on a portfolio which is invested 60 percent 



in stock A and 40 percent in stock B?





State of

Probability of

Return if State Occurs





Economy
State of Economy

Stock A
         Stock B




Boom

      15%


   18%
            15%





Normal

      70%


   11%
             8%





Recession
      15%


     6%
             4%



a. 9.80 percent
b. 9.88 percent

c. 10.16 percent

d. 10.60 percent

________  6.
Asset A has an expected return of 11.5 percent and a beta of .9. What is the reward-to-risk ratio in the 




market if the risk-free rate is 4.1 percent?




a. 3.99 percent
b. 6.66 percent

c. 7.40 percent

d. 8.22 percent

________  7.
The risk-free rate of return is 4.2 percent and the market rate of return is 8.5 percent. What is the expected 



return for a stock with a beta of 1.4?




a. 10.22 percent
b. 11.90 percent

c. 12.70 percent

d. 16.10 percent

________  8.
You own a portfolio which is 30 percent invested in U.S. Treasury bills, 20 percent invested in Stock 

A which has a beta of 1.21 and 20 percent invested in stock B which has a beta of .89. The balance is invested in stock C, which is equally as risky as the market. The risk-free rate of return is 4.5 percent and the expected return on the market is 12 percent. What is the beta of the portfolio?



a. .42

b. .72


c. 1.02


d. 1.22

________  9.
A portfolio is expected to return 10 percent in a normal economy, lose 8 percent in a boom economy, and return 16 percent in a recessionary economy. The probability of a boom is 30 percent while the probability of a recession is 20 percent. What is the variance of the portfolio?



a. .0010

b. .0087


c. .0312
 

d. .0931

________  10.
You have a $5,000 portfolio which is invested in three stocks and one risk-free asset. $900 is invested in stock A, which has a beta of .75. $1,000 is invested in Stock B which has a beta of 1.25. The rest of the portfolio is divided evenly between stock C and the risk-free asset. What is the beta of stock C if you have a portfolio that is equally as risky as the market?



a. .98

b. 1.00


c. 1.98


d. 2.01

Chapter 13 Quiz B
Answers

1.
b

2.
d

3.
b

4.
a

5.
c
E(r)Boom = (.60 ( .18) + (.40 ( .15) = .108 +.06 = .168



E(r)Normal = (.60 ( .11) + (.40 ( .08) = .066 + .032 = .098



E(r)Recession = (.60 × .06) + (.40 × .04) = .036 + .016 = .052



E(r)Portfolio = (.15 × .168) + (.70 × .098) + (.15 × .052) = .0252 + .0686 + .0078 = .1016 = 10.16 percent

6.
d
Reward-to-risk ratio = 
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7.
a
E(r) = .042 + 1.4 ( (.085 ( .042) = 10.22 percent

8.
b
BetaPortfolio = (.30 × 0) + (.20 × 1.21) + (.20 × .89) + (.30 × 1.0) =  .0 + .242 + .178 + .3 = .72

9.
b
Mean = [(.50 ( .10) + (.30 ( -.08) + (.20 ( .16)]  = (.05 ( .024 + .032) = .058



Var = .50 ( (.10 ( .058)2 + .30 ( (-.08 ( .058)2 + .20 ( (.16 ( .058)2 = .000882 + .0057132 + .0020808 = .008676 = .0087 

10.
c
1.0 = [(900 / 5,000) × .75] + [(1,000 / 5,000) × 1.25] + [(1,550 / 5,000 × βc] + [(1,550 / 5,000 × 0];  βc = .615 / .31 =  1.98

Chapter 13 Quiz C   Student Name _________________________
Student ID ____________

________ 
1.
Nondiversifiable risk is also known as _____ risk.




a. unique

b. asset specific

c. systematic

d. total

________
2.
A stock which has a reward-to-risk ratio equal to that of the market and a beta of 1.1 will plot:




a. on the Security Market Line (SML).




b. above the SML.




c. below the SML.




d. on the SML to the left of the market point.

________  3.
Stock A has a beta of 1.03. What effect will an increase in the risk-free rate of return have on the expected 



return for Stock A?



a.
 no effect



b. increase the expected return



c. decrease the expected return



d. either increase or decrease the expected return but which cannot be determined

________  4.
Which one of the following statements is correct?



a. The risk-free rate of return is the reward for waiting for your money assuming there is no risk in doing so.



b. Beta measures the amount of diversifiable risk in a stock versus the amount of diversifiable risk in the 




overall market.



c. The market risk premium decreases as the risk of a security increases.



d. It takes at least fifty stocks to diversify a portfolio such that the bulk of the asset-specific risk is eliminated.

________  5.
Asset A has an expected return of 9.5 percent and a beta of 1.06. What is the reward-to-risk ratio in the 




market if the risk-free rate is 3.7 percent?




a. 5.5 percent
b. 5.8 percent

c. 6.0 percent

d. 6.2 percent

________  6.
The risk-free rate of return is 4.6 percent and the market risk premium is 7.3 percent. What is the expected 



return for a stock with a beta of 1.29?




a. 8.08 percent
b. 11.90 percent

c. 14.02 percent

d. 15.35 percent

________  7.
Given the following information, what is the expected return on a portfolio which is invested 30 percent 



in stock A and 70 percent in stock B?





State of

Probability of

Return if State Occurs





Economy
State of Economy

Stock A
         Stock B




Boom

      10%


    9%
            17%





Normal

      85%


   12%
            14%





Recession
        5%


   15%
              6%



a. 12.23 percent
b. 12.84 percent

c. 13.29 percent

d. 13.40 percent

________  8.
You own a portfolio which is 10 percent invested in U.S. Treasury bills, 30 percent invested in Stock 

A, which has a beta of 1.45, 20 percent invested in stock B, which has a beta of .94, and the balance is invested in stock C, which is equally as risky as the market. The risk-free rate of return is 4.4 percent and the expected return on the market is 13.5 percent. What is the beta of the portfolio?



a. .62

b. .72


c. 1.02


d. 1.12

________  9.
A portfolio is expected to return 9 percent in a normal economy, 14 percent in a boom economy, and lose 6 percent in a recessionary economy. The probability of a boom is 15 percent and the probability of a recession is 15 percent. What is the variance of the portfolio?



a. .0005

b. .0035


c. .0227
 

d. .0594

________  10.
You have a $4,000 portfolio which is invested in three stocks and one risk-free asset. $1,200 is invested in stock A, which has a beta of .86. $1,000 is invested in Stock B which has a beta of 1.30. The rest of the portfolio is divided evenly between stock C and the risk-free asset. What is the beta of stock C if you have a portfolio that is equally as risky as the market?



a. .93

b. .85


c. 1.00


d. 1.85

Chapter 13 Quiz C
Answers

1.
c

2.
a

3.
c

4.
a

5
a
Reward-to-risk ratio = 
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6
c
E(r) = .046 + 1.29 ( (.073) = 14.02 percent

7
c
E(r)Boom = (.30 ( .09) + (.70 ( .17) = .027 +.119 = .146



E(r)Normal = (.30 ( .12) + (.70 ( .14) = .036 + .098 = .134



E(r)Recession = (.30 × .15) + (.70 × .06) = .045 + .042 = .087



E(r)Portfolio = (.10 × .146) + (.85 × .134) + (.05 × .087) = .0146 + .1139 + .00435 = .13285 = 13.29 percent

8.
c
BetaPortfolio = (.10 × 0) + (.30 × 1.45) + (.20 × .94) + (.40 × 1.0) =.0 + .435 + .188 + .4 = 1.023 = 1.02

9.
b
Mean = [(.70 ( .09) + (.15 ( .14) + (.15 ( -.06)]  = (.063 + .021 (.009 ) = .075



Var = .70 ( (.09 ( .075)2 + .15 ( (.14 ( .075)2 + .15 ( (-.06 ( .075)2 = .0001575 + .00063375 + .00273375 = .003525 = .0035

10.
d
1.0 = [(1,200 / 4,000) × .86] + [(1,000 / 4,000) × 1.30] + [(900 / 4,000 × βc] + [(900 / 4,000 × 0];  βc = .417 / .225 =  1.85
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